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101|R#A7 L 930 367 563| Kg |EE 1,620 56| & 2,700 648
102|357 L 2,031 2,031 Kg FIE 1,593 540
111|&EEF £ 123 8 115| Kg |EE 540 432| &40 1,782 1,566
113|RAV S 4 4l Kg T 3,525 2,484
114|B5EFE 180 180 Kg ERE - BE 2,970 1,620
15[ 1= 1 Ke |5 1,620

117[1E 15 4 11| Kg |&E 540 53|Z 18 3,780
121|rblE &€ 76 43 33| Kg |ES 1,728 756|175 1,944 864
134[#= = 394 213 181| Kg |FZE- =4 4,000 1,944| K& 5,940 2,700
137|&5E.3. < 177 103 74| Kg |BER 4,320 3,564| K% 7,823 1,188
138|Hm % 2 58 58| Kg FE 972 918
140(5 I 24 24| Kg 3= 43,200 11,016
147|EZ O 72 72| Kg 8 11,880 6,000
158|&TENAIEH 299 299| Kg =4 3,208 1,998
201|{Lb L 755 755|  Kg BRE - B 594 144
203|/Né L 56 56| Kg =5 432 324
205|5u8 L 1,022 1,022| Kg B4 648 351
206| 1 1,043 1,043| Kg RI5 929 216
208| Mo % 326 326| Kg ML 2,700 432
212|&5E.3Y 625 625 Kg Ko - BIE 2,592 1,450
251|< B %<3 130 130 Kg |F=E 7,020

254|E b ECH 804 804| Kg =] 3,186 1,166
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305[£Aah 0 4 41 Kg FE 3,888 2,700
315|7:b5 6 21 21 Kg =y 3,024 1,842
3191 h o 278 278| Kg & 2,484 891
3321 WA =EF 185 36 149 Kg [#[ 1,404 2P 2,160 1,944
3BlHHY 5 5 Kg |ZEE 3,024

3541 <Y 46 46| Kg =% 3,564 1,134
3/5|HEY 120 5 115 Kg [diEE 1,404 timE - P E 1,620 600
356|L L& 75 75 Kg SER 1,512 864
3577~ E 56 56| Kg FEE 2,160 945
362| & 530 530 Kg BJE 3,456 612
4025 E 5 5| Kg FA 5,616
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A—uhh 20 201 Kg 2P 1,026
AN 906 906 Kg i 1,500 1,390
AERAT AT 456 456 Kg 2P 4,560 1,080
ARTEZL 15 15| Kg E2p] 1,620 1,598
JE WA AE 10 10| Kg Bl = 1,200

iy} 182 182] Kg i 1,134 972
Jarys: e 599 599 Kg timE - A 3,857 1,750
B 20 201 Kg i 4,000

BRI 75 75| Kg A - AL¥ 3,456 1,200
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70110 BA 1,548 1,548| Kg i - 32 3,024 135
704|LWb LET 156 156 Kg N 1,080
709(Wb L AT 38 38| Kg FiE 1,890 54
710|195 2 ®HA0F 274 274 Kg Ko - BRSE 810 248
755|FH&» C 336 336 Kg EE 864 728
T56(FNET 39 391 Kg RIF 1,588 1,080
76l|b Y AEE 18 18 Kg FOarL 2,620
76713725 WD 337 337 Kg =1l 3,300 792
801|BHL =T 132 132 Kg ¥ - A 1,728 1,188
802|111 20 201 Kg 2yl 1,836
805 = 1E 1,009 1,009 Kg bF 1,145 691
810|BAKTF 335 335 Kg & 2,623 1,458
815|—¥9 A ZE 14 141 Kg mE 1,008 900
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